Application Exercise 
Therapy with an Article, Part 2
Session #7
11-18-13

1.  This study apparently represents the first successful attempt to perform an RCT for bracing in scoliosis.  Previous studies were observational (i.e., not RCT’s).  Assuming the non-randomized studies were well-designed, what is the key factor that favors an RCT over an observational study?
a. Complete follow-up of study patients
b. Adequate blinding
c. Intention-to-treat analysis of patient outcomes
d. Equal distribution of patient characteristics not known to affect outcomes
2. In the Conclusions the following is stated: “Strengths of this study include [1] the objective monitoring of the time spent wearing the brace; [2] blinded, independent determination of the outcome; [3] the diversity of participating sites; and [4] the a priori determination of the magnitude of risk reduction that was considered necessary by patients in order for them to choose bracing.”  What was the most important “strength” influencing the primary and intention-to-treat outcomes in Table 2?

a. 1
b. 2

c. 3
d. 4

3. What were the a priori assumptions vs the actual study results related to “strength” number [4] above, and was the “magnitude” achieved (consider only the “intention-to-treat” analysis of Table 2)?
a. 30% vs 33%, yes
b. 30% vs 75%, no
c. 50% vs 57%, yes
d. 15% vs 45%, no
